[#SH]] FHRI34ER

REFEMETE S4E

FESERREEFT "0

e
> EEMm
g == =
VA T SR SR T B i
[T IS 3 R LS P N
W\ wtEx- B
NS e ULy Y L+, oo Iy
-~ T X
iy ki =0
(- S - N

=71 EE T Z B # N 241

BR=1 BIINEK

=TJ1E HEETZ IR A

EIRIE

T EE

BR=1 BIEK

242

=71 EERTZ BN

ML BR=1 &IEK

BEERERE

#IRITE

BEERER

#ZIRITx

BEREH : ) BEREH RIBLE BEREH e
10,663,000 A 16,446,000 LERaECR L 12,161,000 3 BET Y 75 |
2 6m2 119m2 / 130m2 C:\:
TR#E |1 BRI R 1 EIHIER 18 m TX#E |1 EIRER 12 m
243 | =71l Hh5 ETEE A 244 | Z=TJIEI HEETENG 3P 245 | =TJ1E)II H& TSP
MET BIR=tt &IER T EH BIR=1E FIIER T W=t FEER

EERELE ‘iRTE

7,563,000 avsU—b7av o avoY—b7ayoE&E /"? avoU—b7avoE |
% 4 0ma 7,483,000 64 mo 0 11,118,000 F 1 6ma (5
TX#E |1 EIHER 1 EIHER 15 m

EIRER 26 m




(AAHET] SRBESR REEATE SRMEEZRET 0L
249 | Z=T1E)I BT RS A 251 | =J1E/I BT RS A 252 | =TI/ HhE BT AfRIH P
MK WAL FEER e WAL FEER e WAL PEER

BEERERE

11,605,000 F

EIRIE

avosU—b70v I8

57m2

BEERERE

19,446,000 M

BRI %
avo—hT70yvoE

BERERE

BRIk

BEERERE

12,373,000 M4

EIHER

#IRITE

avosU—b70v o8&

4 3m2

BERERE
23,135,000 M

#ZIRITx

avsVU—b70v o1

4 7m2

avsY—b7av o
o 10,964,000 M 4 8mo 0
TX#E | 1 EIHER 13 2 EIHER 16 m TX#E | 1 EIHER 10 m
253 =T71E) HE BT A B 255 =71 HE BT A BN 288 = H HEBTHA N
T T3 MR FEEXR ey WAt $EER ey MR HEER

BERERE

47,229,000 [

avoU—b70v I

BRI %

625m2

EIRER

EIHER 121 m




[#SH]] FHRI34ER

REHEBEIS

AR SR T

444

NSNS

BelTEa A

TEL3EE

i

BEERERE

6,826,000 [

AR EHER

=¥

BIRIE
avoU—br7Oyv o
1 0m2

445

NN SE

BeETE S A

L EEE

KA EHEHER

2 EIHER 12 m

1 EIRER 10 m

HhAHT
(RAFEE) ST EFTHE

14, 27

No. 3




